EHER - TEERICEA I SKPI
KPI 20195 F 2020 E 2021FE 2022FEEE 2025FEBE
12BSRAEHFERT 1 > X —/\)LESFR 99.4% 99.9% 99.9% 99.9% 99.9%
D=0 514 TNFVADHEHE BREUSTFEEE 21.1H 25.6H 18.8H 18.2H 208=
BTSN BT B 45K B E DART68A DAN5A D24 DAR103A < DR20A
EHRRRZ MR 100.0 100.0 100.0 100.0 100.0
“REEZORZE (EEHEBERHHREIER) 76.7 81.1 92.7 98.7% 95=
HEREIEE ERNZECBRTITZIE) TEER 33.1 40.3 77.5 73.8% 85=
REISTRIER (40RHK7H) - — 51.9 85.6% 85=
@A E (18.5 = BMI < 25) El& 66.9 66.5 67.3 65.9 <68
B, 1T BENICKR>TWEEDEIE 23.4 21.2 20.8 20.3 <18
1E309 U DL TF o BB EE2AM £ 1FEL ERBEL TV R EDEIE 16.0 20.6 217 22.4 25=
BREETHTRIRBRFOE K ES Z21R1IKEU LRELTVSEDEIE 39.2 39.3 39.2 41.1 2=
EZE (TMBEFI3R4) TNASKDEBRET2E8U L)) 0H2EDEE 14.9 13.0 11.1 12.5 <10
BRICLDTHRURENBENTVZEDEE 60.0 67.7 66.3 64.9 68=
ASLRF YV EBRROEEES 66.2 89.9 96.0 94.5 95=
REBEIRIME (RFLZAF Ty IOFHERICE D) - 101 (%) / 82 (%) 104 (%) / 87 (%) 104 (%) /89 (%) 100 (58) / 85 (%)




